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Answer Sheet No,

Sig. of Invigilator.

......................................................................................................................................................

BIOLOGY SSC-I
SECTION ~ A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(vi)

(xi)

(xii)

Who wrote the book “Al-Haywan"?

A Al-Jahiz B. Bu Ali Sina

C. Abdul Malik Asmai D. Jabir bin Hayan

The hypotheses that stand the test of time are called

A Laws B. Theories C. Deducticns D. Experiments
The Eukaryotic multicellular heterotrophic organism having chitin celi wall, are placed in kingdom ____
A Fungi B. Protista C. Monera D. Plantae

Ground tissues are made up of

A Collenchyma cells B. Stone cells

C. Parenchyma celis D. Sclerenchyma cells

Which is the main component of prokaryotic cell wall?

A Cellulose B. Peptidoglycon C. Chitin D. Glycopepsin
The process by which small melecules are forced to move across semi-permeable membrane with

the aid of water or blood pressure is called

A Active Transport B. Osmosis

C. Filtration D. Facilitated Diffusion

In which phase of cell cycle do the chromesomes duplicate?

A G1 B. G2 C. GO D. S

If organic co-factors are tightly bound to enzyme, they are called

A Co-enzymes  B. inhibitors C. Organic groups D. Prosthetic groups
In the process of Glycolysis Glucose is broken into

A CO, + ATP B. CO,+ H,()+ ATP

C. Pyruvic Acid + ATP + NADH D. Nene of these

Which vitamin causes loss of appetite and liver problems when taken in access?

A Vitamin C B. Vitamin D C. Vitmian A D. Vitamin B
Which of the following is NOT involved in Transpirational pull?

A Xylum with small diameter B. Adhesion

C. Phloem vessels D. Cohesion

Which nutrient plays an important role in opening and closing of stomata in Plants?

A Calcium B. Potassium C. Sulphur D. Zinc

For Examiner’s use only:

Total Marks: 12

Marks Obtained: |

—1SA 1310 (L) -~




Rolt No Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator:

l- g gl ool ol
Revised Syllabus (12/(}) Uil 2220 o
-ELC)”JL‘:’f {J"‘jj-{_uf.;)tgru"éugn/_uﬂz_lggyfa_lia:?}fté/d{r:yu:‘-bﬁle_Lu_'fw__)&/g_/.;I,L»?[_m_r_d: UJJ'.b '
e L6226 0515 s SE g s 1 Tl 1 (50 s 4 iy

ST A S

A - ; |
okt 2 STl e - V:J'!' —— Lol -y
- - PN “, - .-‘;’,' .
g 1 oy J(qu»'de‘L =R P:é‘ (i)

=L = A & dn:‘? - AT |
bt LGS e e e By Ay (i)

i o 12 0 oy — dl;-’ _oil
" Later .
e ikl (iv)

iy £ o Aius b Kos- o ST |
‘: . . -
?eu’fuﬁu(%fJL"’gﬁdJi,cC{ v

v [V "',/ S i .
ook - oF -G g’ig};éyfj —— Sk -
P S . - :

- L Ne 2 b - I P A .

[ ;,-'?-—\:7.‘__1‘/-#.:.;_.0:,4'"\_/& ’uxv‘"cr /.HAL i chz;»L‘ L"._}‘f:r_ua L (vi)
i Pt _ e .
it "y SE S o X SR

UL ES i /AL (il
s G0 G2 o Gl
S e (I e fx&jvifﬁl ’;Q',(_,@if__,q (vi)
STy iy AET L il o s
fe Ul Ve ¢'JC}:L P :}K J{’.. /’ Ils QII{ (ix)
COL v H,O+ TP COo+ AP

- L

Poruvie Acid + ATP+ NADIH

- 5
Vﬁd[c_gﬁfsy;’;/) w?

s;gL:f'ﬁJu_”,%v(_ oo budoes

Lot y e 7 i c'or‘h

(&1 Ve =2 —ly Cx - o I et e — i

o —

e M Vit LB N e S S 3 (xi)
o RA — u_t_,‘t(kuu'nibj —uidll

_—,’/’k’ﬁ( . Vc&'tfﬁ &

qr . A re ,
et/ hlhs Al Sl sl e AUy (xii)
-ty — 5 -

- -3 J" -

:/f'ufd’ip 12 /j:"ﬁ :f?__lf,

S1SA 1310 (LY - e




BIOLOGY SSC-i
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’' on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x 3=33)
(" Define the following:
a. Biotechnology b. Entormnloo c. Anatomy
(i) Write down any three observations of A.F.A King about Malaria.
(i) How do forests support biodiversity?

{iv) Write briefiy abcut “Cell as an open system”.
V) Define Osmosis. Aiso differentiate between Hypertonic and Hypotonic solutions.
vi) Give structure and function of Xylem tissues.

vii) Compare and contrast Mitosis and Meosis.

i) In what ways do the enzymes lower activation energy of chemical reactions?

(
(
(
(viil) Write down the use of Ezymes in Food industry and Biological detergents.
(
(x) Write a note on Krebs cycle. Also draw its reaction equation.

(

xi) Name the parts labelled A, B, C, D, E, and F in the following diagram, on your answer sheet.

|"‘I2C) chiorcplas. Wi
<[Light]> “

A
<~ 5
Light ~ 2
Reacticns
{en tnylakoids)
~
~
E F
(xii) What is the role of the following minerals in human body:
a. Sodium b. Zinc c lodine

(xiii) What is the difference between Bolus and Chyme? Also define Peristalsis.
{xiv) Transpiration is called a necessary evil. Comment.
{xv) Differentiate between Thrombus and Embolus.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. Al questions carry equal marks. ‘ (2 x10 = 20)
Q.3 a Define Hypothesis. Write the characteristics of a good hypothesis. Also propose a
hypothesis about Malaria. (1+3+1)
b. Differentiate between the terms Extinct and Endangered. , (03)
Give the names and symbols of the Bioelements which make 99% of the total mass of
an organism. (02)
Q.4 a. List the limiting factors in Photosynthesis. Explain any Two. (1+4)
Describe the significance of Meiosis. (05)
Q.5 a Explain the role Water and Dietary Fibres in life. (04)
b. Draw the structure of human heart and label its parts. Also show the flow of blood in Heart. {06)

--— 1SA 1310 (L) —--
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Roll No. L,, 1 ; ‘ 7] 4J 1 Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

BIOLOGY SSC-|
SECTION - A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(1}

(vif)

(viii)

(xi)

(xii)

Out of the 92 naturally occurring elements, are called bio-elements.

A 15 B 16 C. 20 D. 17

Biclogical method has played an important part in scientific research for almost years.
A 450 B. 500 C. 590 D. 630

in 1837 AD., E-Chatton suggested the term of to describe bacteria cell.

A Eucariotiqgue B Procariotique C. Bacteriophase D. E-Coli

The scientific name of house Crow is

A Homo sapiens B. Allium cepa
C. Corvus splendens D. Rana tegrana
The inner membrane of mitochondria forms many infoldings called .
A Stroma B. Cristae C. Granum D. Thylakoid

[n meiosis, the homologous chromosomes line up with each other and form pairs by

a process called

A Chiasmata B. Synapsis C. Crossing over D, Recombination
In which stage of cell cycle, the cell is preparing enzymes for chromosome duplication?

A G1 Phase B. S Phase C. M Phase D. G2 Phase
Which of the following is TRUE about Cofactors?

A. Break hydrogen bonds in the proteins B, Heip facilitate enzyme activity

C. Increase activation energy D. Are composed of proteins

Chiorophyll pigment absorbs maximum light in wavelengths of

A Green and blue B. Green and red

C. Green only D. None of these

From which bonds of ATP molecule energy is taken?

A P-P bonds B. C-H bonds C. C-0O bonds D. C-N bonds
Cardiac sphincter is found between

A Stomach and Small intestine B. Stomach and Oesophagus

C. Small and Large intestine D. Stomach and Large intestine
Which of the following is NOT TRUE for the reason of creation of transpirationa! pull?

A Water is held in the xylem tube that has small diameter

] Water molecules adhere to the walls of xylem tube

C. At source (leaf) food is moved by active transport into sieve tube of phicem
L Water molecules cohere to each other

For Examiner's use only:

Total Marks: ! 12
Marks Obtained: I
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BIOLOGY SSC-I
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3=33)
(N Show the relationship of Biclogy with other branches of science with the help of diagram.
(iny What is Data? How can you analyze data?
(iii) What are the aims of Classification?
(iv}) What are the causes and of bad effects of Deforestation?
(v) Write down the names of parts labelled A B and C in the following diagram of the Chloroplast,

on your answer book!

(vi) Write a short note on Epithelial tissues of animals.
(vif) a. Write a short note on the S phase of interphase.
b. How is cytokinesis important in cell division?

(viii) Write down the uses of Enzymes.

(ix) What role is played by chlorophyll and light during photosynthesis?
{x) Compare Respiration with Photosynthesis.

{xi) Give a comparison of Alcohalic and Lactic-acid fermentation.

{xil) What are the effects of Malnutrition?

(xii}  Write briefly about the opening and closing of stomata.

(xiv)  Give a comparison of Arteries, Capillaries and Veins in Tabular form.
(

Xv) What do you know about Atherosclerosis and Arteriosclerosis?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
Q.3 a What do you know abut the followings:

(i) Facilitated diffusion (ii) Water balance problems (2+3)

(iii) Compound tissues of plants (03)

b. Write about the process of Metaphase of Mitosis. (02)

Q.4 a Define Respiration. Describe the mechanism of respiration (1+6)

Describe the Venous system of human beings. (03)

Q.5 a. Describe the structure and functions of human heart. (07)

Explain the Rh blood group system. (03)
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Answer Sheet No.

Sig. of Invigilator.
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BIOLOGY SSC-I

SECTION - A (Marks 12)
Time allowed: 20 Minutes Old Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(1) Who was the first person to discover Antiseptics?

A Louis Pasteur B. Joseph Lister C. Robert Koch D. Bu Ali Sina
(ir) Which of the following veins carries oxygenated biood?

A Pulmonary vein B. Abdominal vein

C. Hepatic Portal vein D. Renal vein
iii) Basic unit of classification is

A. Kingdom B. Species C. Order D. Class

(iv) Which of t

ic division in animal cell?

A D.
(v) Which of the following is an example of Saprophytic plant?

A Cuscuta B. Venus fiytrap  C. Monotropa D. Bladder wort
(vi) ‘Scurvy' is caused due to the deficiency of in human beings.

A Vitamin B B. Vitamin A C. Vitamin D D. Vitamin C
{vii) Animais of which phyium have soft body?

A. Annelida B. Mollusca C. Echinodermata D. Arthropoda
(viii) Which of the following is NOT the characteristic of Monocots?

A B. C. D.
(ix) Which pigment gives blue colour to Cyanobacteria?

A Chlorophyll B. Xanthophyill C. Phycocyanin  D. Eosin
(x) Which of the following is an example of fresh water motile unicellular algae?

A Volvox B. Spirogyra C. Sargassum D. Chlamydomonas
(xi) ‘Dolphing’ belong to which ciass of phylum Chordate? '

A Mammalia B. Reptilia C. Pisces D. Aves
(xit) The condition when young leaves of femn are rolled is called .

A Rachis B. Circination C. Fronds D. Pinnae

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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BIOLOGY SSC-I
Old Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and iegibly.

SECTION — B {(Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)

i) Write down the functions of Liver.

i) How is digested food absorbed in ileum in human beings?

1ii}) Differentiate between Winter sleep and Hibernation.

V) Write briefly about Long Shoots and Dwarf Shoots of Pinus.

{

(

(

(iv) Briefly describe Sea Urchin and Hydra.

(

(vi} Why are Green algae considered to be the ancestors of plants?
(

vii) The following diagram is that of a unicellular blue green algae. Name the parts labelled A, B and C
on your answer book:

e

- -

- -

. .
LTI L

(viin) Write down any three objectives of Classification.
(ix) a. What is the function of teeth in frog?
b. How is the tongue of a frog different from that of the other animals?
(x) a Who presented the Cell theory?
b Write any two salient features of the cell theory.
(xi} Define the following:
a. Ecology b. Cell Biology C. Genetics
(xii) Write a brief note on ‘Coral Reef.
(xiti) a. Give one example of Mutualists fungi.
b. What is Bacteriophage?

(xivi  Briefly explain the structure and function of Alveoli.
(xv) What is Darwin’'s Theory of Common Descent?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a. How do intercostals muscles and diaphragm work during Inspiration and Expiration? Explain. 07
b. Differentiate between Hepatic Veins and Hepatic Portal Vein. 03
Q.4  Describe the structure of a Tooth. 10
Q.5 a. Describe Oparin and Haldane hypothesis about the origin of life on earth. 06
b. Explain briefly ‘Alternation of generation in Bryophytes'. 04

—— 18A 1310 (Old) —
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